ONE MARKS QUESTIONS (1-30)
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In & population of N famlies, 50% of the
families have three children, 30% of the
families have two children and the
remaining families have one chald. What s
the probability that a randomly micked
child belongs 10 a fammly with Iwo
children?
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In a class of 200 students, 125 Students
have taken Programming Langt
course, 85 students have laken D
Structures course, 65 students have
Computer  Organization  co

siudents have taken both P
Language and Data Structures,
have taken both Pro
and Computer Organy
have taken both
Compuler Organizali udents have
taken all the courses. How many
students ha 2 anv of the three
courses’

35
Lel a(x, v), bix, v) and cfx, v) be three
atemenis with vanables x and y chosen
from some universe Consider  the
following statement:

() ()] (o (. p) b (v 2)) n—el )]

Which one of the followmg 15 s
equivalent”

a ['ﬁ'x}[ﬂ_v}[{nl:xhl.'} vb(x.v))=>e(x, y}]

4

7

Lol 14

b, (3x)(7¥) [{ alx,v)vb{xy))a 1'{1'.;.!]]
¢ _.[1 L TES ].[[ al e viab(xv))=olrny ',l—|]
d —f(we)av)[{a(x v)vh(xs)) e

Let Ry be a relation from A =
e B= 12 4 6 8 and
relaton from B o C [, 2
below

. An elemeni x A [ an
element v in B WggderR 1) il x + v 15
divisible by 3

s i®B is related 10 an
(under Ry) if x + vy is
WPdivisible by 3

compasile relaon R R; [rom

R = {001 20 (L4, (3,3), (5, 4). (7. 3)}
R R =200 2 (13043, 2) (5, 2 (7, 3
. RiR:={{1, 2052, (3. 4 G4, (7.2
d REB=032L03 405 10 (535 (7. bl
What is the maximum number of edges in
an  acvelic undirected graph  with n
yeriices?

a hel

b n

€ W+l

d 2n-2

What values of x. v and » satisfv the
following svstem ol linear equations”

N i ¥
I 3 4| x|=|8
& B F|E 12

i N=py=3.%=2
b x=12v=3 =4
C x=hy=hz==4
d x=12,y=-3zr=

Which one of the l'clllmung regular
expression {2 + b+ ¢)*?

a (a*+b* +c*y*
b. (a*b*c*)*
c. {(ab)* tc*)*
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‘I+
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d‘ [I*EI-" 3 E-]'

What s the mmnimum number of NAD
gates required to implement a 2-input
EXCLUSIVE-OR function without using
any other logic gate?

a, 3

h 4
N
d 6

Which one of the followmg statements is
FALSE?

a. There exist contest-free  languapes
such  that  all the context—free
grammars  generating  them  are
amguous

b An  unambiguous  context—tree

grammar alwavs has a umique parse
tree for each string of the language

seneraled by it
¢ Both delerministic and no=
deterministic  pushdown  automata

always accept the same sel of
languages
d A finite set of strings from som
alphabet 1s always a regular languag
What is the minimum size of
required fo store the complete
of an 8-bit - 8-bit multiplicr?

a 32K - 16 bils

b 64K < 16 bits
¢ 1ok - 32his
of agrideo terminal unit

d. 64K - 32 bj
What is the |

(.5 Mbps
d. .64 Nbps

Consider o system with 2 level cache
Access times of Level 1 eache, Leve] 2
cache and mamn memory are 1 ns, 10 ns
and 500 ns, respectively, The hit rates of
Level land Level 2 cachies are 0.3 and 0.9,
respectively, Whal 15 the average access

time of the system ignoring the search lime
within the cache?

13,

14,

K
ifix==0x=l:elsax=1

16.

17.

2al 14
13,0 ns

a
b. 125ns
e, 126ns
d 124ns

Let P be o smgly hnked list. Let () he the
pointer (o an inlermediate node X m the
fist, What s the worsl-case Lime
complexity of the best-known algon
delete the node x from the list?

a. CHn)

b. Otlog'n)

¢ (Mlogn)
d, )
Which one of the folMgge s NOT shared

by the the gme process?

i Stack

an integer which can take a value
or 1 The statemienti

i5  equivalent o which one of fhe
following?

A S

b $=l-%

& X=x%-k

d. == 1%x

Which of the following commands or
sequences of commands will rename a tile
% to file v in o Unix system?

. mvy, X

my X, ¥

FRY AR

mx

L L

X

a. (I)or (1)

b, (IDor(IV)

¢ (Dor (1)

d. (If)only

In & soflware project. COCOMO
(Constructive Cost Model) s used to
eshimate

r

Tak

=
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19.

o effort and duration based on the size of
Lhe software

b, size and duration based on the effort of
the software

c. efforl and cosi based on the duration of
the software

il. size effort and duration based on the
cost of the software

The diagram that helps i undersianding
and representing user requirements for a
software projeet wsing UML  (Unified
Meodeling Language) is

1. Entity Relationship Diagram

b, Development [iagram

¢ Data Flow Dhagram

4 Tlse Casc Diagram

A software orgameation has been assossed
at SEI CMM Level 4 Which of the
following does the organizabion need to
practice  besides  Process  Chance
Monapement and  Technology Change
Management in order o achieve level 57

a  Defect Detection

b. Defect Prevention

¢ Defect [solation

d. Detect Propagation

A software configuration man

helps in

a. Keeping track of the d on
the milestones rea

b Mantaining diffe of the
ennfigurabloftems

ow® distribution by
gect structure

locking provides the highest
concurrency 0 & relational

e Row

d. Page table and row level looking allow

the same degree of concurrency
Which one of the following statements 1s
FALSE?

25.

26.

Tof 14 |
a. Packet switching lends 10 better
utitization of bandwidth resources than
careuil switching
b, Packel switching vesults in less
variation i delay  than  cireuil
switching
Packet swilching reqguires more per-

gl

packet processing  than gl
switching
o, Packel swilching coan

reordening unlike in cire
Which one of the follo
FALSE?

a. TCP  guar minmuTm
communicalion
b. TCP i -ﬂwm'dclh'nn'
& fCP congestion by reducing
8170
d. P ploys  retransmission  to

ate for packet loss
of the following statements is

a, HTTP runs over TCP

b. HTTP describes the structure of web
page

2. HTTP allows information to be stoved
na URL

d. HTTP can be used to test the validity
ol a hypertext line

A sender i employing public  Key

cryptography 1o send a secret message o a

receiver, Which one of the following

slatements is frue?

a. Sender encrypls using receiver's public
key

b Sender encrypts wsing is own public
key

e, Receiver decrypls
public key

(. Recewer decrypts using his own public
key

A subnet has been assigned a subnet mask

of 255,255255192. What is the maximum

number of hosts that can belong to this

subnet?

a 14
b, 30
e B2

usig  sender’s
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28

d. 126

A host 15 conmected to a Department
network which 1 part of a University
network, The University network. in tum.
18 parl of the Infemet, The largest network
in which the Ethernet address of the host 1s

URIGuE 15

the subnet to which the host belongs
the Department network

the Uimiversity network

the Internet

TCP, a umque sequence number 1s

assigned to each
a, byte

b, word

Fefs e

. segmenl
. message
Which of the following objects can be
wsed m expressions and scrip lets in ISP
(Java Server Pages) without explicily
declaring them?

a. session and request only

b. reguest and response only

¢ response and session only

d. session, request and response
Consider the following statem

| telnet, fip and hitp are appl
protocols,

2. EMH  (Enterprs a8 Heans)
components can b na J2EE
{Java 2 Entggprise P application

BeTver,
3. conform o the
¢ Specifications
the Microsofi NET

ich statements are true?
1 and 2 only

b. 2and 3 only

¢ land 3 enly

d. 1,2and3

TWO MARKS QUESTIONS (31-80)

JZ

33

dal 14
Let p, g r and s be four primitive

statements,  Consider  the followmg
argumenls:
L [(spugisirasisipor)]s(-s-q)

2 [{-prg)nlgalpor)]]o-r
3. [[(gor)»plnl-grp)| 1
1. [prlp=or)efqi-r)]—>
Which of the above argumenis
a land 2
b. 1and3 O
c. land 4 O
d L2 3andd
Let Abe maggix of following form
' D0 0 - O 0 0
00 LI I
31 0 === 090 0
! 3 1 == 0.0 0

R I T S
1

I_ﬂ D “ ﬂ u e u S-H‘H
What is the value of the determmant of A?
(2] (8821, (BT [85-1)

o R _I:H-
b T"\E{.“ 7\543 I-"IT—J_; rll"? 5.3
g b~ i o I =
[l }I‘ﬁlil mtj1+l3'ﬁﬂli I.5_|
: Iﬁ ([ i
i, (0] (aBer) (5 (3]
2 NS )\ 2 J L 25 )

Let X and Y be Iwo exponentially
distributed  and  mdependent  random
variables with mean a and [} respectively.
I 2 = mmn{X. Y), then the mean of 7 is
given by

I
a+ fi
b. min{ex. /7)
eeft
]

.




Sof 14
d a-f a 8

Lt Ht. H;, H;.J. be harmoni¢ numbers. b. Bl
Then for neZ%Y T, can be exprossed
i=l

& B=
oS 3

a nf,,~(n+1) d o
39, Comsider the followmg sterative
B nslpH, ~n finding methods and o

& (ni1)H, -n propertics:

d (mel)H,, ~(ne1)

1

Q
In how many ways can we distribute 35 R Newton Rap
distinct balls, By, Bs, ....Bs m 5 distinct g e
cells. ©, Cs,..... Cs such that Ball By, is S Secsit 1
not in cell C.¥i=12.5 and each cell g Suceessive Smation
contains exactly one ball? Conve: D
a 44 L nvergence = L62
b. 9 1. dfyr of converpence = 2

¢ 120 ' of convergence = 1 with
d 3125 antee of convergence

criie

o 1

If matnx .1'=i | and

a+arl l-a
A4 XN 1= 041 is the identity matrix
O is the zero matrix). then the mverse gf S

The comeet matching of the methods and
propertics 15

a, OQ-IL R-IV, S-10, T-1

b. Q-IL R-IL 8-L T-IV

e QL R-L SV, T-111

d. Q-1 R-IV, S-11, T-M

40. Let M= (K I, T, A s, F)be a pushdown
automaton, where

K={s.f].F={f}Z= {a.b}. T = {a}and
A= s 4, 6 (8, a)) ((s. b, ), (s, 0)), ((s,
a, g). (L s)). (L3, a). (F e} ((E b a), (£

6)}}
Which one of the following strings s not 4
e number of vertices n an member of LOM)?
connected graph with 27 edues, 4 aaa
l;\:f IEIEE[‘H! 2, 3 vertices of degree I. aabab
4m;iﬂmnnmmg of degree 37 & ekl
: 1 . Bab
4.:- i 41 Let M =(K.Z#&.5.F) be a finile stale
d. e aulomaton, where
I A1y = 2. 102) = & and 1(8) = 16, what i K={A.B},S={ab}.s = A F={B}

the wvalue of f3) using lagrange's
interpolation formula?
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43,

f(Aa)=AL8(Ab)=B.SB.a)=8 and
dlB.a)=4

A prammar (0 generate the language
accepts by M can be specified as G = (V E.
R.S)hwhere V-Ko_ I and S - A,
Which one of the following set lo mules
will make L{G) = LIM)T

a, {A-aBA-bAB-SbAB A B-sE}
b. {AsaAA+bBB-bBB-saA B-se}
c. {A-bBA»aBB-saABsbA Ae}
d JAsaAAPABbB B saA A}
ustng a 4-bii 28 complement anthmetic,
which of the following additions will
result in an averflow?

1. 1100
=100

2. o
01

3 1111
=011

a, lonly

b. Zonly

e. 3only

. 1 and 3 anly

The number ( 123456)y 15 equivBent

a. (A72E)sand (2213

b. (AT2E)and (221

¢ (AT3E) and (221

d. (AB2E)s andd 22120

serial  tansmission T1 used §
information bits, 2 start bits, 1 stop bil and
| parity bit Ffor each character. A
synchronous transmission T2 uses 3 ciohl-
bit syne characters followed by 30 cight-
bit information characters. If the bit rate is
1200 bilsisecond in both cases. what are
the transler rates of T1 and T27

a. 10 characiers/see, 153 charactors/se

4.

ol 14
b, 80 charactersisee, 136 characters/see

¢ 100 characters/see, 136 characters/sce
d. B0 characiers/sec, 1533 characlers/see

If we use internal data forwarding to speed
up the performance of a CPL { R1. R2 and
R3 are registers and M[00] 18 memory
reference), then the sequence of operations

R1 -» M[100]
M{100] —s R2
M[10%] -» R3
can be replaced by
a. RI—>R3
K2 M[100)

b.

1 =R3
Rl—R3

K2 - M[10]

Consider 4 pipeline processor with 4
stages 51 10 54. We want to execute the
following loop:

Forii= 1ir== 10000: 1 ++)
{I1, [2, 12, 14}

where the time taken i ns) by instructions
I1 to 14 for stages 51 to 54 are ginven
below:

51 S22 53 8

i 3 2 1 2
2: 2 I 2 |
13: I 1 2 1

W 2 1 2 1

The output of 11 for i = 2 will be available
after

a Ilns
b. 12ns
¢ Sns
d. 28ns

Cemsider a fully associative vache with 8
cache hlocks (numbered (-7} and (he




tollowing sequence of memory bloek
requests:
43258.196,25,8,1635,452283,16.25.7
If LRU replacement policy is used, which
eache block will have memory block 77
o oA
b. §
o O
. 7

49, A CPU has enly three mstructions 11, 12
and 13. which use the following signals in
fine steps TI-T5:
I
TT: Ain, Bout, Cin
T2: PCout, Bin
13 Zout, Ain
T4: Bin. Coul
T5: End

i

T1: Cin, Bow, Din
T2: Avut, Bin

T3: Zout, Ain

T4: Bin, Cout

TS: End

|k H
T Din, Aout
TZ: Aln, Boul
T3: Zoul, Aln

TS End
Which of the fo loflc hinctions
will generate thghardw trol for the

signal Ain? ¢
) 403+ T3

JH(T2-T4) I3+ 13
; M2+ (T1+T3).11+ T3

an enhancement of a design of a CPU,
peed of o floating pomt unit has been
1 ed by 20% and the speed of o fixed
point umt has been im-cased by 10%,
What is the overall achieved 1f the ratio of
the number of lixed pomt operations s 2:3
and the floatng point operation used lo
take twice the time taken by the fixed
point operation m the original design?
a 1155
bh. 1185

31.

54

Tolla "
¢ 1.255

d. 1.285

The storage area of o disk has mnermost
dinmeter of 10 em and outermost diameter
of 20 gm. The maximum storage densaty of
the disk is 1400 bits.em. The disk rotales
at 8 specd of 4200 RPM. The main

memory of a computer has 64-bit
length and 1ps cvele time. T eyvel
percentage of memory cyales
transfermrng one word is
[ T
g %
A ts 10 gencrate as many
possible of Lhe string
Nuid’ order onto o stack, but it may
aft the top chamcter at any time.
OT he genemted using  ths
program?

is used for data transfer from
o 0.5% : O
d. 10%
shing lile characters a. h. c. d
oneg of the following strings

d. osbd

An amay of miegers of size n ¢on be
converted into o heap by adjusting the
heaps rooted at each mternal node of the
complete binary tree starting &t the node

| (n=1)/2], and doing this adjusiment up
to the root node rool node 15 al mdes 0) m
the order |(n-1)/2].|(n=3) 2]......0.
The time required to construct a heap m
this manner is

g (xlogn)

b (Nu)

¢ Ofn log log n)

d Xnlogn)

Which one of the following bmary trees
has its inorder and preorder Iraversals as
BCAD and ABUCD, respectively?

.
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56,

57

R
e
S
@5

Let fin), g(n), and hin)
defined for positive inlegers s lh

= Ofg(n)), gin) = O(fin)), (1)),

and hin) = Ofg(n)) of the
following stalements 1 fi
a M)+ hin)=Dign ) 7%

i i) L 2

¢ hin)

d f{n) {n)hin))
uncirected graph below

Using Pnm’s algorithm (o construet a
minmum spannmg tree startmg with node
A. which one of the following sequences
of edges represents a possible order in

\

Kall4
which the edges would be added to
construct the minimum spanning tree’

a. (EGUC FLF.GLAD)(ABLIAC
b (ADVLABLACLCF)GE)FG)
¢. (AB)(AD)(DF)(FG)GEWF.C)
d (AD)AB)D.F)LF.CLFGLGE)
Consider a list of recurisive algon
a hist ol recurrence relations

below Each  recurrence
corresponds 1o exactly one alg

1s used to denve the u
the algorithm
P Bmary scarch < ’

Q. Merge
R Quick *

8. T@
n-k)+ T(k) ~en

=2T{n =1k} +1
PTin) = 2T(n/2) +ch
Y. Tin)}= Tin/2) +1

Which of the following is the comect
match between the algorithms and their
recurrence relations”

a P-IL, QuI11, R-IV, 5]
b P-IV. Q-I11. R-1, 811
¢ P-NIL Q-Il, R-IV. S-1
d. P-IV, Q-I1, R-1, S-11]

Consider the following C program which

15 supposed to compute the transpose of a
given 4+4 matrix M. Note that, there is an
X n the program which indicates some
missmg stalements, Choose the comect

option to replace X m the program.
Minclude <sidui s
milefine ROW 4
Fueline CUL &
i MIROW [ICOL] = | 1 2345678910, LAZ 14014 15.0n)
| b
|
mthphe
or {F=ied. ++i)
|
X
|
foe (rdlied; #41)
Fio \j=th e 4]
pramdl {57, W0,

ol




Tor (j=tn; jedi 40
=Mtk
MU= ML 6.
Ml =1
|

o 4=t je=dl 490 |
Miilljl =t
1= Mlillsf:
NI =Ml
)

for (j=1 jedo #4id | !
t=MIIGE
Minii = Migllik
Ml =1
]

for (=i: jdi ++j) {
MIiLl =1
t= MLl

program?

:ﬁmtil = M[ilji: ®
50 What is the outpul of the following &

Bal 14
d. 3232

Choose the correct aption 1o fill the ?1 and
22 so that the program prints an mput
siring in reverse order. Assume that the
input string 15 terminated by a new line
character,

#¥include <sidio.h>

void wri_i (void):

inl main [void)

|
printl (“Enter Text™):

peintl (" ")
wri_it{).
Il'lﬂlﬂ""ﬂ'l g5 -
| 0
void wrt_
|
if(
wi ity

7lis pewchar() I= "
Winclude <sidia.h> 2is  perchar(c):
h

int funef (int x); =k
iy funcg (int y); ;; ; lﬂﬂt‘h:]:l}:r l=\n
main () @
' "

ine x=5, y=10, count; Mis cl='n ‘

for (vount = |; count | s putchur(c):

y 4= t‘umt‘iﬁ}-h d,

funcy (int x) |
static inty = 10;
y#=1;
relurm (y+x):

|

n 4380

b 4274

o 3337

M is (c=geichun(}) = \n’'
1248  puchar(e);

61, Consider the following C program




sivclude s h>
typedel st |

cher *ur
wher "t
i
woid 11 f1ag
viold I2 (s *pl
maiul 1
{
satic 1 s=| A" TA7),
F‘mﬂ't"l PR PR T

lisk;
peintl {"4s Siakn”, a0 s B
Doksy

!
o BY 150
|

AT i

sl N,

Pl 47 N v
el

I
void (241 *p)
I
prasTVe
pab="W"
peialt ("5 s GslaT, poosu by
TR,
|

What s the owolput generated by the
provgrum?
a AB

L

Vw

VW
c AR

1y

u

L

VW

Uv
A disk has 200 tracks (numbered 0 thiough
199). At a given time it was servicing the
reqquest of reading data from track 120 and
ot the previous requesl service was lor
(rack 20, The pending requests (in order of
theyr armval ) are for track numbers

30 70 LIS 130110 80 20 25

b AB
Uy
K2
*

63.

\!

0.

63.

il 14
How manv tmes will the head change s
direction For the disk scheduling policies
SSTF(Shortest Seek Time First) and FCFS
(First Come First Serve)?

a 2and3
b, 3Jand 3
c. 3and4
d 4 and4
In a certain operating syste
prevention is  attempted
following  scheme. La
assigned 8 unique i
restaried with the
Let Py, he the procesfholdi
P, be a process i

u resource B
for the smme

peatiVly. The decision to
ne of the progesses 1s

wii

Which one of the lollowing is True?

a The scheme is deadlock-free. but not
slanvabon-tree

b. The scheme is not deadlock-free, but
starvation-free

c. The scheme 15 neither deadlook-Irec
nor slarvatnon-free

d. The scheme 1s both deadlock-free und
starvalion-frae

A process exccutes the following segment
of code:
foi (i=1: i<=n; I+4)
fork():
The number of new processes created 15
& m

b nin+1)
2

o 2=l

d. 3¥-|

The semaphore vanables full, empty and
mutex are initialized o 0, n and |
respectively. Process P, repeatedly usdds
one items ar a time to time a buffer of size
i, and process Ps repeatedly removes one




iem al a bme from the same buller wsng
the programs given below. In  the
programs. K L, M and N are unspecified

statements,

L] whibe (15[
B Pymuies ),
Addd an ficm o thes badler;
Vimules§; L;

|

Pz whileil |

AL Biamutes b,

Remmove i ten from the balfer;

Vimuzes s I,
|

The stalements K. 1. M amud N are
respectively

a. Pofull), Viempty ), P(tull). Viempty )

b. Pllull), Viempty), Plempiy), Vifull)

e, Prempty ), Virull) Plempty ) Vi)

d. Plempty), Vifull), Prull), Viempty)

66,  Inavirtual memory system. size of virual
address is 32-bil, size ol physical uddress

15 30-hit page size 15 4 Kbyte and size of

¢ach page table entry 18 32-bit. The main

memory 1s byvle addressable. Which one of

the followimng s the maximum pumber o

bits thal can be used for storing prolects 70,

and other information in each
entry?

o 2

b,

e 12
d 14
67 In o particular Lgix OS] data block is

eaclgnode has 10 direct
s and three additonal
forYsingle ndirect block,
irect block and one for
i block Also. each block can
resses for 128 blocks. Which
e following 15 approximately the
vimim size of a tle o the file system?

b, 2GH
o BGDH
d. 16GH

68 A soltware project involves execution of 5
tasks Ti, T2. T3, T4 and T3 ol duration 10,
15, 18, 30 and 40 days, respectively. T2
and T4 cun start only after T1 completes.

ARTRE
T3 can start after T2 completes T3 can
start only afler both T3 and T4 complete,
What 15 the slack ume of the sk T3 in
dm'lr
g, {
b3
o, 18

d. 30
69 Consider the followimg program
int moduled (int x, int y) {

while (x!=y) {
il (x>y)
x=x-y;
:h: Y =y-%i
return x; L 2

|
Whyis Welomatic complexity of the
ubov modfe?

&E. 3
d. 4

Assume that the delivered lines of code L
of o software i3 related to the effort E in
person months and duraton tin calendar
menths by the relation 1. = P* (EB)'" *
(", where P and B are two constants for
the software process and skills lactor. For
a software project. the effort was estimated
1o be 20 person months and the duration
was estimated o be 8 months, However,
the customer asked the project team 1o
complete the software project in 4 menths.
What would be the required eflort in
person months™?

m 10
b. 40
o
d. 320

71, A software was tested using the error
seeding strategy im which 20 errors were
seeded in the code, When the code was
tested using the complete test suite, 16 of
the seeded errors were detecied. The same
test smite plso defected 200 pop-seeded
ermors. Whatl is the estimated number of
undetected errors 0 the code plier ihis
testing?




u 4
b. 300
c. 200
d. 2350
72, What s the availability of software with
the following reliability figure?
Mean Time Between Failura (MTHF) = 25
davs
Mean Time 1 Repair (MTTR) < 6 hours
o, 1%
b, 34'."“
e 99%
d. 99000

73. Consider the following entity relatonship
diagram (1.R1)) where two entities E] and
E2 have a relation R of cardinality 1:m

<>—{ %

g H

2
The atmbutes of El are Al1, Al2 and Al3
where All s the key uantnbute. The
attributes of E2 we A2, A22 and A23 here
A2l s the key atinbute and A23 is a
multi-valued attribute. Relation K does no
ba ¢ allv attribute. A relanonal data
contarping  mimmum  number ol
with each table satisfyving the ey
of the third normal form (3NF 4
from the above ERD. Thz [um
tables in the database is

g 2
b 3
[
d 35 ¢
T4 A reluly contamns two lables

| no, name and dept id
ent table has columns dept id
“name. The following insert
ts were executed successfully o
ate the empty tables

Insert  into  department
“‘Mathemanes )

Insert into department values (2, “Physics’)
Insert mto student values (1, “Nvin')

Insert into student values (2, “Mukesh')
Insert into student values (3. *Giw™, 1)

How many rows and columns will be
retrigved by the following SQL statement?

values (1,

T3

L0
2 20

7.

12 ol 14
Select® Irom student. depariment
a. 0 row ind 4 columns
b 3 rows and 4 columns
¢. 3 rows and 5 columns
d. Hrowsand 5 columns

A relation Empdil 1s  defined  with
attributes empende (umique), name, street.
gitv. state and pincodes, For any i
there is only ong city and state
any given Street city and state,
one  pmeode

. In oo g
Empdtl s a relation in
g. INF only mb
b. 2NF and hﬂnw@N
¢ 3NI and hence al Fand INF
d. BCN @:aﬁlmm INE, 2NF and
I@ relational databass has the
4 and columns:
marks

3 30
4 Null

The following sequence of SQL stafaments
was successfully executed on table T1

Update T1 set marks = marks + 5

Seleet avgl marks) from T1

What is the outpul of the select statement?
a. 1873

b. 20

¢ 25

d. Null

Consider the following schedule 5 of
transactions 11 and T2:

n hr

Read{A)

A=A-10
Resd(A)
Temp=02%A
Write{ A}
Read|B)

Write{ A}

Read(E)

B=B+10

Write(H)
B = B+iemp
Write(B)
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Which of the following 18 TRUE about the a 01101011

vehdule 57 b. 011010110

a S 18 senalizable only as T, T2 ¢ 011101100

b. S ie senalizable only as T2, T d. 0110101100

¢ 8 s senslizable both o¢ TLT2 and g In a sliding window ARQ scheme, the
T2,T1 transmitter’s window size i3 N and the

d. S 1 not senalizable wther as T1 or as recerver’s window size 18 M. The
T2 T:3582 minimum  number of  dhstinet

78 Comsider two lables in a relational pumbess  paghined .ty s

Infubase with columibe sl rowe. 48 aperation of the ARQ scheme

follows: a  mitt {M.N)

Table: Snocden Table: Department b. max (M.N)

Bollpo  fMass  Dept ld Duplld  Dapt_seme c. M+N

1 ABC I | A

2 DEF i 2 B

3 o i 3 €

4 ;M1

Roll no is the primary key of the Student
table. Dept id is the primary key of the
Department table and Student. Dept id is 4
foreign key from Department, Dept_id

What will happen if we fry to execute the ted f'-:}r every frame. Assuming fhat

following two SQL statements? '
i : g sl o gingle host waghes o transmat, the
(1) upidate Student get Dept 1d = Null \ Bffc o e wctel 5

where Roll no = |
(i)  update Department set Dept id S
Null where Dept id =1 b. 2 Mbps
a,  Both (i) and (i) will Fail € 3 Mbps
b. (i) will faal but (i) will su d. & Mbps

83. A 20 Kbps satellite Link has a propagation
delay of 400 ms. The tansmitter employs
the “go back it ARQ™ scheme with n =et to

¢ (1) will succeed but ()
d. Bath (1) and (i) wi

75, Consider a table T database 10, Assuming that each frame iz 100 bytes
with a key field K A of order p s long, what & the maximum data rate
giructure on K, where p possible?
number of tree v

index node, Assume VTR

long: disk block size is b. 10 Kbp

each data pointer Pr, is 8 bytes ¢ 15 Kbps

block pointer Py is S bytes d. 20 Kbps

rder for each B-tree node to fit i

8. Consder s panty check code with three
data bits and four parity check bits. Three
of the code words are 0101011, 1001101

:H;G'IE digk bock, the maximum value of

20 and 1110001, Which of the following are
I 22 also code words?
¢ 23 1. amonti
d. 32 2. 0110110
80  Ina data ink protocol. the frame delimiter i. lgl1o10
flag is given by 0111, Assumng that bit 4. 0111010
stuffing is employed. the transmuitter sends & Lawts

the data sequence 011101710 as




b. 1.,2and 3
c 2and4
d 1.2, 3and4

85 Consider a simplified ume slotted MAC
protocol, where each host always has dita
to send and transmits with probability p =
0.2m every slot. There is no back off and
one frame can be transmatted in one slot If
more than one host transmits in the same
slo, then the ransmissions are
unsuccessful due 1o colliston, What 15 the
maximum number of hosts which this
protocol cun suppont, if each host has to be
provided o minimum throughput of 016
frames per ime skot?

2 |
b. 2
Cc. 3
d 4

86 In the TCPTP protocol suite, which one of
the followmg 15 NOT part of the P
header?

#  Fragment Offset
b Source [P address
¢ Desunation [P address

d Destnation port number
87 A TCP message consisting of 218 20
15 passed to IP for delivery Wero

networks The first i
maximum payload of frame
and the second carry a
maximum pay load of per frame,
excluding net overhead. Assume that

ket 20 bytes. What is

uppose that the maximum transmi
window size lor a TCP connection is
1 2000 bytes. Each packer consists of 2000
bytes At some pomt of tme, the
connection 15 in slow-start phase with a
current transmit window of 4000 hyles.
Subsequently, the transmitier receives two
acknowledgements  Assume  that no
packets are lost and there are no time-outs

\

[ENTIE
What is the maximum possible value of
the current transmit window?

a A0 bytes
b 8000 bytes
¢ 10000 bytes
d 12000 bytes

Consider an XML rile called intro.x
a document type defimition (DT
miro, did as follows;

intro.xmil

< Tamil verswm =" | >
<|DOCTYPE myMess

<y Messages
emessape=Wels
</myMessa

g parser will classify intro.xml

g Well-formed and validated

b Well-formed but not validated

¢ Validated bt not well-formed

d  Nether validated nor well-formed

Given below are several usages of the
anchor tag in HTML

| lL ﬂwm—mﬂwﬂl'mmt
Irli A O P iepagr S Tem Mea A

W MR EP e wpage i s Tas M e
Which of the above are valid?
a. Land Il only

b Tand I only

¢ L0 and 1] only

d 1AL and 1Y




